This page was exported from - Latest L ead2pass Dumps For Sharing
Export date: Mon Jan 27 19:14:33 2025/ +0000 GMT

Efulllo;/ersi on Free Sharing Of Cisco 300-475 Brain Dumps From L ead2pass

2017 January Cisco Official New Released 300-475 Dumpsin Lead2pass.com! 100% Free Download! 100% Pass Guaranteed!
Cisco 300-475 exam is very popular in Cisco field, many Cisco candidates choose this exam to add their credentials. There are many
resource online to offering Cisco 300-475 exam questions, through many good feedbacks, we conclude that Lead2pass can help you
pass your test easily with Cisco 300-475 exam questions. Choose Lead2pass to get your Cisco 300-475 certification.  Following
guestions and answers are all new published by Cisco Official Exam Center: http://www.lead2pass.com/300-475.html QUESTION
1 Which two statements describe overlay functionality in the Cisco ACI? (Choose two.) A.&#160;& #160;&#160; Forwarding is
not limited to or constrained by the encapsulation type or encapsulation network. B.&#160;& #160;&#160; Forwarding is limited
to and constrained by the encapsulation type of encapsulation network.  C.&#160;&#160;& #160; External identifiers are not local
totheleaf or leaf port. D.&#160;&#160;&#160; External identifiers are local to the leaf or leaf port. Answer: AD  QUESTION 2

Service graphs and service functions have which three characteristics? (Choose three.) A.&#160;&#160;& #160; Service graphs
can only consist of asingle service appliance. B.&#160;& #160;&#160; Service graph edges are directional.
C.&#160;& #160;&#160; Taps (hardware-based packet copy service) can be attached to different points in the service graph.

D.&#160;& #160;& #160; Service appliances are dynamically detected and configured when added to a service graph.

E.&#160;& #160;&#160; The service graph restricts the administrator to linear service chains.  F.&#160;&#160;&#160; Traffic
can be reclassified again in the network after a service appliance emitsit. Answer: BCF  QUESTION 3 Which two options
outline the design requirements for spine nodes in a Clos design? (Choose two.) A.&#160;& #160;&#160; host connectivity
scalability B.&#160;&#160;&#160; spine interconnectivity — C.&#160;&#160;&#160; leaf interconnectivity
D.&#160;&#160;& #160; high 40-Gb/s port density Answer: CD  QUESTION 4 Which two options are design requirements for
leaf nodesin a Cisco Clos design? (Choose two.) A.&#160;&#160;&#160; high 40-Gb/s port density  B.&#160;& #160;& #160;
spineinterconnectivity C.&#160;&#160;&#160; leaf interconnectivity D.&#160;&#160;& #160; fabric policy enforcement
Answer: BD QUESTION 5 Which answer accurately describes the fat tree design implemented as part of the Cisco ACI fabric?
A.&#160;& #160;&#160; Clos architecture, Cisco APICs, and hosts connect to spines. Palicies are enforced on leafs and spines.
B.&#160;&#160;& #160; Clos architecture, Cisco APICs, and hosts connect to leafs. Policies are enforced on leafs only.

C.&#160;& #160;&#160; Multitier architecture, Cisco APICs, and hosts connect to spines. Policies are enforced on spines only.

D.&#160;& #160;& #160; Multitier architecture, Cisco APICs, and hosts connect to leafs. Policies are enforced on leafs only.
Answer: B QUESTION 6  Which entity manages Layer 4 to Layer 7 servicesin the Cisco ACI? A.&#160;& #160;&#160;
vendor B.&#160;&#160;&#160; Cisco APIC  C.&#160;&#160;&#160; MP-BGP  D.&#160;&#160;&#160; ISIS Answer: B

QUESTION 7 How can system and pod health scores be viewed? A.&#160;& #160;&#160; GUI system dashboard
B.&#160;& #160;&#160; cumulonimbus collector ~ C.&#160;&#160;&#160; Cisco APIC Python  D.&#160;& #160;& #160;
Cisco Health Score Viewer Answer: A QUESTION 8  Which two components set up a domain vPC between two leaf switches
in the Cisco ACI fabric? (Choose two.) A.&#160;&#160;&#160; vPC peerlink  B.&#160;& #160;& #160; vPC peer keepalive
C.&#160;& #160;&#160; vVPC domain  D.&#160;&#160;&#160; vPC protection policy Answer: CD  QUESTION 9 How do
the Cisco APICsinitially connect to and configure the fabric in-band? A.&#160;&#160;&#160; single link (active/passive),Infra
VLAN for spine and leaf configuration B.&#160;&#160;& #160; port-channel, Infra VLAN for spine and leaf configuration
C.&#160;&#160;&#160; single link (active/passive) D.&#160;&#160;&#160; single link (active/passive), Layer 3 management
interface for spine and leaf configuration Answer: A QUESTION 10 How many Cisco APIC controllers are required to form a
Cisco APIC cluster? A.&#160;&#160;&#160; three controllers, 3N redundancy B.&#160;&#160;& #160; two controllers, N+1
redundancy C.&#160;&#160;&#160; three controllers, N+2 redundancy  D.&#160;&#160;& #160; three controllers, 2N+1
redundancy Answer: C  Cisco 300-475 exam questions are available in PDF and V CE format. This makesit very convenient for
you to follow the course and study the exam whenever and wherever you want. The Cisco 300-475 exam questions follow the exact
paper pattern and question type of the actual 300-475 certification exam, it lets you recreate the exact exam scenario, so you are
armed with the correct information for the 300-475 certification exam.  300-475 new questions on Google Drive:
https://drive.google.com/open?id=0B3Syig5i8gpDU2JMEIXUUJgWkk 2017 Cisco 300-475 exam dumps (All 65 Q& As) from
Lead2pass. http://www.lead2pass.com/300-475.html [100% Exam Pass Guaranteed]
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